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Python &3\ 2 _&

¢ 7w iF T 5\
o def 3038 2R (58l , 582, ..):
. S 38 4T AR T B

® ¥ B ik 3N
ndef 30 ;¢ ZF (581,582, ..):
- X ;\‘* EJ/’J#EC."i“ Tg\? B

. return £ & w S Hcss B




i H 5|3+ (5-1def.py)
def hello():
print( hello")

def circle(r):
return r¥r*3.14

hello()
print ("FE=%d Em@EiE=%.2f" % (10,circle(10)))

hello
: ’?ﬁ=1@ = [ﬁﬁﬁiﬁld.@@




f':? ¥ 5]+ (5-2sum. py)

8def sum(n):

9 sss=0

10 for i in range(l,n+1):
11 sss+=1
12 return(sss)

13print("1+2+...+%d=%d" % (5,sum(5))

In [3]: runfile('D:/User
5-2factsum.py', wdir='D:
HW')

1+2+...+5=15




it ¥£5-1

* 711 * IDLE 2 Spyder (# - )% = #ciz i
F¥ T e itk
o B-E R g py 2 2N EEA R

A [ e

g5 AN, F]HsumFE; factpgEEcs 152 1+2+...+n Fznl
fEZED-1 258 XXX 4% 1XXX

n=5

1+2+...+5=15

51=120




2 * FpX 9l

¢ R RHFBFHCH B R T W] ;0 A AR KA
A& Python#® ¥ 2 & * 3p 2% 51 #ic (Argument)
NSRS

¢ def sum(a, b, c =0):

¢ returna+b+c

* print(sum(10, 20, 30)) 60
¢ print(sum(10, 20)) 30
¢ print(sum(c=30,a=10,b=20)) 60




*FE 5 B B

—

TE SRR BPER T L7 SRS
* T & RlEk
def sum(*nums):
total =0
for number in nums:
total += number
return total

=L

orint(sum(l, 2)) 3
orint(sum(1, 2, 3)) 6
orint(sum(l, 2, 3, 4)) 10




S0 7V e fioid * tuple

e i@ *tuplei® » » R & A (G N pF FFH P
Tuple® = B~ % ¢ p $odp TH & B 58

¢ def sum1(a, b, c):

¢ returna+b+c

¢ numbers = (1, 2, 3)

¢ print(sum1(*numbers)) #% % =6




LX) ;7\“ £135 | Hcig * dlCt

x%’}f,g-_ﬂ.;}’ﬂl«—":'-ﬁ SRS B TR D Sk B 1]
Python ¢ i 5 & 3 & &g & i - ﬁ-e—fél’:}];,
BB r’%ﬂ—m%ﬁi -

¢ def sum2(a, b, c):

¢ returna*2+b+c

sargs={b':4,'a'.5,'c': 6}

¢ print(sum2(**args)) #z % =20
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Python-&;¢ % v & % & (tuple)

¢ Sz wiB g Etupe XKk & o (5-
3ret_tuple.py)
= def mydata():

= nhame ="Alan"

= age=35
= return name, age

= "Alan', 35
- print(mydata()) Alan 35
= namel,agel=mydata() _ 51

= print(namel,agel)




lambda i% ¥ 3\

¢ Python #% & % ¢ & 3% (anonymous functlon)
RF SM LA TR LR
FH): B B

¢ add = lambda x,y : x+y

¢ print (add(10,20)) 30

¢ print (add(50,1.5)) 51.5
* print (add(“abc","de")) abcde
* print (add(10,True) 11




R Hcehf wf F

¢ 2% % #c(global variable) : #13 et 51+
IPEES:S

* % ¥ % #c(local variable) : W% & p bt
¥ B

¢ def my():
¢ x=1; print (x)
o print (x) #¢ % 4 48353 7] X i
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Programming) - 12 3T A B
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R w)vs 4= 12

¢ ifxﬁ‘—ﬂ (class) &_3~

e R A Q;\F' ’ ,T‘ufg\

;ﬁ» g ] B 1
i’; :

i+ (object) = §

ig (Instance) _%
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o 12

o Bl (attrlbute) = f % 3 (member
variable) £ % ki it 4 1 g F -
*= ;2 (method) ¢ = ﬁ 3138 (member
function) §_* &k = & i ehds (7 o
Bt

CPU ® Intel Core i7
Manufacturer : ASUS

P N
2 Boot (Fi#%)
: Shutdown (Z8%)
Execute (3117)
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P ython #= i2

¢ Python * .h’wrp 7R R A 4 2 (object) > @
Po 12 0| B T_E SRR Y ‘% (class)

* 3E 5 )J'}mg\;fﬂ = mg_ Bl kx> Ao &
;fn mP«},a ] 2 % j\;fﬁfll?;}‘ﬂlim:l;\: ’

o @ f s it (attribute) - B HAS 2
(method)
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P ython #= ¢

* ;}p KLK‘P E,|J m—ﬁ Jg@'r KU
(instance) » 2t if* ¥ e s
I *g:b%»# H [ mZLK\E J Ik 1 Lwy
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P ython #= ¢

> I:)ython‘:l m,ﬁ' :-"""'3 S (|d) = —'FII 5
(type) £ g (value) ’ +\ i i ﬁﬂ: 71
}\E*T«E'z*ﬁ’“ ”F{"P‘JL :

m Id(X)

= type(x)
= print(x)

- 123 ) type= <class "int’>
t3print (“type=",type(X)) 4= 1787657088
l4print ("id=",id(x)) lue= 123

15print ("value=",x) vaiue=

23




T_& 5E Y

* & % classhl 43 T /MW >0 HF 40T
class 28 5l| A 7H:

statement(s)

* |+ % &[] Circle &7 4
class Circle:

Pl =3.14
radius =1

def getArea(self):
return self.Pl * self.radius * self.radius

24




¢ RpAEHE 2 p it HiFiRdeT

e Cl= C|rc|e() C1 = Circle()
i+

\ '\
@ e a2 S — P @ @S —fEcircle @ JFFEEEC1IRRIMIA
F5C1 ~ R FsCirclel %Y Pt FELINICircle ]

C2 =Cl

+ C2=C1

IR 2R B B C a2
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2 class Circle:

9 PI = 3.14

10 radius = 1

11 def getArea(self):

12 return self.PI * self.radius * self.radius

13 def my(self):

14 print (self)

15 C1=Circle()

16 C2=C1 1

17 C3=Circle() 3.14

18 print(Cl.radius) 3.14

19 print(C€2.PI) <__main__.Circle object at 0x0000000008BCA438>

20 print(Cl.getArea()) None

21 prant(cl.my()) <__main__.Circle object at ©x0P0QEEEEESBCA438>

Ezpr}nt(CE.my()) None

22 print(C3.my()) <__main__.Circle object at 9x0P@P00EEE8BDAB3S>
None
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it

init. () * 2

o Python 25 g s - B g,;ﬁa% _init_ () i
PR E 0 hiE e il EIPRF l= g g Bl el i3 B
= Bge i 4 41 (5-5circlel.py)

class Circle:
=3.14

def __init_ (self, r=1):
self.radius =r

AN

def getArea(self): N
return self.Pl * self.radius * self.radius :#1’5"5%—19

HITE /=3.14
S f=314.00

A0

C1 = Circle()
print("F1&=%2d [B|EFE [&=%.2f" %(C1.radius, Cl.getArea()))

C2 = Circle(10)
print("FE1&=%2d [E|[HTE f=%.2f" %(C2.radius, C2.getArea()))
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% L

o Python o 27 3% % f i § #4741 0% s % 8
SR G L F
(anonymous object) (5-5circle2.py)

class Circle:
PI=3.14

def __init_ (self, r=1):

self.radius = r =1 BEfESE=3.14
def getArea(self): i?ﬂE:l@ = [ﬁj%%=314 .00

return self.Pl * self.radius * self.radius
print("F1&=%2d [B|HFE F=%.2f" %(Circle().radius, Circle().getArea()))

print("F1&=%2d [B|HFE =%.2f" %(Circle(10).radius, Circle(10).getArea()))
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w3 A
5circle3.py)

class Circle:
Pl=3.14

def _init_ (self, r=1):
self. _radius=r

def getRadius(self):
return self. _radius

def getArea(self):
return self.Pl * self. _radius * self.__radius
LF s [£ ST
C1 = Circle(10) ClEY¥1E=10
print("C1HYF&=%d" % C1.getRadius()) Cp e
print("C1AYEIE f&E=%.2f" % Cl.getArea()) C1 H/‘ﬂ = [E]%= 314.00

29




27 W12
T ¥5-2
* 71/ * IDLE % Spyder (& - )= =& =i+ 5§ T 2
2 F¥E REEE py 2 22k R

class Circle:
Pl=3.14
def _init (self, r=1):
self. _radius=r
def getRadius(self):
return self. __radius
def getArea(self):
return self.Pl * self. __radius * self. __radius
C1 = Circle(10)
print("C1HY£1%8=%d" % C1.getRadius())
print("C14Y[ElHfE=%.2f" % C1.getArea())

sr 25 LIl E5ERk MY IS
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13 LVERE &

sn 25 L2 5ER MY IS

aa = int(input("iH A EL{E="))

my=Circle(aa)

F4% => my.getRadius()

HIfE => my.getArea()

JH& => my.getPeri() &5#rHE—{& 1A (R0ER)
VEZEDS-2 BRI XXX 1 24 XXXX

i A EX=10

[E==XX.X IN7T

HIFE=XX.XX 5N 77
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¢ 4K (Inheritance) o)
AN TG g o

T A AT g w

) 32 BTG R
B e f 9 A W]
(parent class) @ m
T 1B AT E5E S P
e T 2 %) (child
class ~ subclass)

o

] AiSART KB
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EFEHIHH - 8
A LT ARRITFER

=S5l
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MR- K3 Y

5-8inheritl.py

class T4 ( SOBIH-1, SUERI-2, ..): 5 A

statement(s) R
class A: ¥R% B

=1

" FisAFR A B
class B(A): sHR C

y = |A| I#
class C(B):

z=3.14 }{.%' '_|HE= 1
my = C{) yEE= A
print("x&E =", my.x) |
print("y/E4=", my.y) Z_.% $= 3.14

print("z/&4:=", my.z)
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MR- R Y

5-9inherit2.py

class T R SOHERI-1, SOKER-2, .): l_ﬁ?il lﬂu"ua_l
statement(s) | HisAZ A E
| AR C I

class A:
x=1

class B():
y - |A|

class C(A,B):
z=3.14 xEME= 1

ail =(C(Fr$ ) yEE= A
print("x/&E4=", my.x
print("y/& =", my.y) zZEME= 3.14
print("z/&4=", my.z)
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it

B2 s-ikengetx( )™ iz
AU AR R A A 7 2= 8 772 super() 5-10inherit3.py

class A:
=1 A A %87 B
def getx(self): FiEAFOTEERE
I

return self.x

class B:
y="A' | %851 C I
def gety(self):
return selfy
class C(A,B):
x=3.14
def getx(self):
return self.x;
def getxx(self):
return super().x;
my = C() XEE= 3.14
print("x& =", my.getx()) ; print("yE =", my.gety())
print("AFYX[E4=", my.getxx()) }’%ﬁ—

print("AEYXE =", A().getx())
x = 3.14159 AFIXE = 1
def getx():

return x; 3- 14159

int t’
print (getx()) = 4




Isinstance() & issubclass()

+ |sinstance(obj, classA) : 3~ *obj 2 F &
classA g ClassA= #g W enf» 2 (True/False)

¢ issubclass(class, classA) : #f w|class €_F =
ClassA = 5z %] (True/False)

>>> class A:
x=1
>>> class B(A):
y=2
>>> obj1 = A()
>>> 0bj2 = B()
>>> jsinstance(objl, A)
True
>>> isinstance(obj2, A)
True
>>> jssubclass(B, A)

True
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ot

% A (polymorphism)

¢ j&(from)p* #ici- e (random) ® > % > (Import)
— 1F T_&- i # (choice) > ;= (5-1lploy.py)

from random import choice
class People:
def say(self):
print(" X224 | ")
class Student:
def say(self):
print("3 &A% | ")
pl=People()
stul=Student()
#im i choice J7 AT A R LARB B FEE 1128 RV I —TH
obj=choice([p1,stul])
print(type(obj))
obj.say()

In [26]: runfile('D:/Users/

PyNo5")

<class ' _main__ .People'>
KRR |

In [27]: runfile('D:/Users/
PyNo5")

<class '_main__.Student'>
EETEF |

In [28]: runfile('D:/Users/
PyNo5")

<class ' main__ .Student'>
BT |

In [29]: runfile('D:/Users/
PyNo5")

<class ' main__ .People'>

RZEEF |

3




}% # ‘%:v f}lj (5-12classBMI.py)

+ classBMI.py £ = #z %] class BMI 3% &3+ 5
BMI 77 ;2
* BMl.py - & & + BMI

8

9class BMI:

10 def _ init_ (self,h=0,w=0):

11 self.height=h

12 self.weight=w

13 def BMI(self):

14 return self.weight / ((self.height/160)**2)

38




J& # %fﬂj (5-13BML.py)

¢ BMl.py 2* & % 4 BMI
¢ import classBMI #3* » classBMl.py #

8

9 import classBMI

10a = classBMI.BMI(170,70)
11print("BMI=%.23f" % a.BMI())

In [6]: runfile(
BMI=24.221
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A 0

¢ 3 4 BMldata > ;=

8

9class BMI:

10 def __init_ (self,h=0,w=0):
11 self.height=h
12 self.welght=w
13 def BMI(self):
14 return self.weight / ((self.height/168)**2)
15 def BMIdata(self,h=0,w=0):
16 if h==0:
17 return self.weight / ((self.height/168)**2)
18 else:
19 return w/(h/.100)**2

40




A 0

+ BMl.py 2* & & * BMIdata

8

9 import classBMI

19a = classBMI.BMI(170,790)
11print("BMI=%.3f" % a.BMI())
12print("BMI=%.3f" % a.BMIdata())
13 print("BMI=%.3f" % a.BMIdata(170,80))

In [6]: runfile
BMI=24.221
BMI=24.221
BMI=2/7.682
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$ 12 He — H-K(BMIL.py)

¢ L M (Woman)ig wl ¢ 7 ¥ £ 3 (Human)zg
B edrg 4 > & B (Woman)#Z g £ 5 =
B — 99 Fl(bust) ~ *Z ] (waist) ~ A~ 7]
(hip) > & B = 2 —4=4>1t (__init )& &
= El(printBWH)

42




P it W — B G148MILpy)

9 def __init_ (self,h=0,w=0):

19 self.height=h

11 self.weight=w

12 def BMI(self):

13 return self.weight / ((self.height/100)**2)
14

15 class Woman(Human):
16 def __init_ (self,h,w,bust=0,waist=0,hip=0):

17 super().__init__ (h,w)

18 self.bust=bust

19 self.waist=waist

20 self.hip=hip

21 def printBWH(self):

22 print("fgE=%d,EE=%d, 5 E=%d" % (self.bust,self.waist,self.hip))
23

24a = Woman(165,54,83,64,84)
25 print("BMI=%.2f" % a.BMI())
26a.printBWH()

BMI=19.83
i [E|=83, iE[E]|=64, B [E|=84
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#7 = R 4§ B (s1s8mizpy)

¢ sc~ _ height,  BMI &4 3 = i = 3

& class Human:

9
10
11
12
13
14
15
16
17
18
19
208
21
22

23 3

def

def

def

def

def

def

__init_ (self,h=0,w=0):
self.__height=h
self.__weight=w

__BMI(self):

return self._ weight / ((self.__height/1808)**2)
getBMI(self):

return self._ BMI()

getHeight(self):

return self._ _height

getWeight(self):

return self.__weight

setWeight(self,w):

self. weight=w

Human (186, 80)

24print ("B E5=%d §2==%d " %(a.getHeight(),a.getWeight()))
25 print("BMI=%.2f" %a.getBMI())

26 a.setlWeight(6@)

27 print (" B5=%d §2=5==%d " %(a.getHeight(),a.getWeight()))
28 print("BMI=%.2F" %a.getBMI())

In [13]: runfile
E£=-180 E5-30
BMI=24.69
5 E==180 £5==60
BMI=18.52
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* 711 * IDLE 2 Spyder (# - )= = #iciz it
E¥ T o2 ivx

o B2 E Pig py 2 2025 A

2 F%\’y BMI pl=&
http://health99.hpa.gov.tw/OnlinkHealth/Onl

Ink BMI.aspx
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http://health99.hpa.gov.tw/OnlinkHealth/Onlink_BMI.aspx

e %53

h=int(input("&=="))

w= int(input("FEE="))
A SE M E

] D] RAVBMI K Ei

VEZED-8 BRI XXXX %54 XXXX
B ==xxX

Ha EE =XXX

BMI=xx xx 5 (R T

VEZES-3 EEHE XXXX 2 54 XXXX
B = =xXXX

HE BT =XXX

BMI=xx.xx ZEif 18 E

SEAT:
1f a.BMI()<18.5:
print(“f#EiR$")
elif 18.5<=a.BMI()<24:
print ( “fREREL")
elif 24<=a.BMI()<27:
print(“iAE")
elif 27<=a.BMI()<30:
prant("EERKE")
elif 30<=a.BMI()<35:
prant("cpEEREE")
else:

prant("EZiEEE")
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